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All questions are compulsory.

¥ AR 1 ¥ 8 T AT U9 € | Tish Y9 W 1 3ih sTreifed € |
Question Nos. 1 to 8 are very short answer type questions. Each
question carries 1 mark.

T ShHTR 9 ¥ 12 T ST U9 € | W U W 3 3 ITefed ¥ |
(I T AfeRTH IR-FHAT 50 T ©)

Question Nos. 9 to 12 are short answer type questions. Each question

carries 3 marks. (Maximum word-limit of answer is 50 words)

T hETR 13 H 18 T SIS U ¥ | YA U | Sfiafes foshed T
Tesh W W 4 3feh STEifed € | (ST ki SAfrehad vee-EH 75 U §)
Question Nos. 13 to 18 are long answer type questions. Each question

has internal choice. Each question carries 4 marks. (Maximum word-

limit of answer is 75 words)

TR SR 19 | 24 Toh SESTT T § | T TR § ST fohed 2 |
T Y9 W 6 3ok Aeifed € | (I hT STFehRan IR-HHT 250 s §)

Question Nos. 19 to 24 are long answer type questions. Each question
has internal choice. Each question carries 6 marks. (Maximum word-

limit of answer is 250 words)
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yo-1 T aeqd Fn € ? [1]

What are Giffen Goods?

U9T-2 G F S1e T SR TR SR 1 ST § 2 [1]
Which type of market is gold and silver market?

-3 USE R FE ? [1]

What is optional money?

Y9-4  9Rd B H5d Seh -1 § ? [1]
Which is the central bank of India?

Y9a-5 YA L h ol SR ST | [1]

Give two examples of direct tax.

UgT-6  Gqfed oo fhE Fed € 2 [1]
What is balanced budget?

Y9a-7 AR Hod W 1 SR § 2 [1]
What is meant by balance of trade?

qy-8 = faftee < fohd e €2 [1]

What is floating exchange rate?

Y9I-9 T ScUeA § H1 ANE § 2 35 97 fafan | [2+1=3]

What is total production? Write its formula.

U9A-10 31l Gt st i faerand fefe | [1+1+1=3]

Write three characteristics of imperfect competition.

UeT-11 STl | Ue 1urel Wi ¥ iR fafay (i /) | [1+1+1=3]
Write the difference between excessive demand and deficit demand
(any three).

Y9A-12  HIHid YN Y9 W@ 99d Y9 & el i T ST | [3]

Explain the relations of marginal consumption trend and saving trend.
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Yg-13  HATY U9 G AL Tl IR HYRAT Tl T Hife | [2+2=4]
Explain the mutual dependence of micro- and macro-economics.
3rerar
OR
i AT Ta  STERIicHe 1o | TR T Shifsu (h1E
=) | [1+1+1+1=4]
Explain the difference between real economics and ideal economics
(any four).
Uoa-14  3iq feer v s S foaan © 2 I8 U i foman © 2 [2+2=4]
How does the average fixed cost curve look like? Why does it look
like this?
3rerar
OR
SrefhTel T AT de S AT ok e feed € 2 [4]
How do long marginal cost and average cost curves look like?
gya-15 el srdegawen § W Sifdw =9, THE SR SIS o SieR ol &l
% ? = wifsg | [4]
Explain why all the last expenditure in an economy is equal to the
total factor payment.
3rar
OR
TRt <31 o el o Fdwieh % &9 H Hehel S¢] SIS i F HIHIS
%! fafew |
Write some limits of GDP as the co-ordinate of the welfare of a
country.
UyA-16  9RA ® 51 Yfd = Sekfouss afkemm o1 7 2 [4]
What is the alternative definition of currency supply in India?
NM-37 A P.T.O.



Y91-17

Y91-18
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Y91-20

[4]

sTeqar
OR

TR Skl o ek wrd fafan (FE =) | [1+1+1+1=4]
Write the modern work of Commercial Banks (any four).

Fo1e ! fagmaret & fafae (R am) | [1+1+1+1=4]
Write the features of the budget (any four).

sTar
OR

TCHT S 1 STgIhd R 2rdt & (F1S T ?

Why government budget is required (any four)?

A 39 | STHI i Sk A o 39T faf@n (FE =) | [1+1+1+1=4]
Write measures to correct the imbalance in the balance of
payments (any four).

sfear
OR

oo Tt <t & v&r © qh ST (1 =) |

Argue in favour of stable exchange rate (any four).

TSLIAT Foh ohi Wias AT HifT | [6]

Explain the indifference curve with diagram.

sfear
OR

Ifg ST T 3T 20 T. W IGHT 40 . B 9T ©, foheg hiAa eyufiafda
Tdt &, 1 oot Y@ | o1 giedy i g ?

If the income of the consumer increases from Rs. 20 to Rs. 40 but the

price remains unchanged, then what changes are there in the budget line?

T T Y A T Teail i AT HiT (HE ) | [6]

Explain the elements affecting demand (any six).
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YI1-22

YI1-23

[S]

sTeqar
OR

A % 79 @] €9 % FHRON H A K (FE Bt) |

Explain the reasons why the rules of demand applied (any six).

T Sl g A a1el dell ol fafen (HE 1) | [6]
Write the elements affecting supply (any six).

sTgar
OR

g <t e 1 1 7 ® 2 39 R WG € 2 [2+4=6]

What does elasticity of supply mean? How is it measured?

I TR AfE IR # g=fad 9ed 8—
(37) HqeH HiHa ¥ fee;
(&) Hga HHd § 61 ? [3+3=6]
What happens when the prevailing price in the market is—
(a) greater than equilibrium price;
(b) less than equilibrium price?
3rerar
OR

M 7o Td R od H 3 T FifT (HE 87) | [6]

Explain the difference between normal price and market price

(any six).

FIE % ISR THgid F A=A fafaw ($E ) | [6]

Write critiques of Keynes’s employment theory (any six).

sfear
OR

Srcafyer | % SRl fafet (a8 87) |

Write the causes of excessive demand (any six).
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[6]

frifha efhel | dafdass o iR Safads WoIS9 ofF w1 UM

IS
e

(/) R AR R Hae =1 3R

(i) foa<ei | e faa e o
(iii) SATIIRT Y
(iv) TmH &

(v) URERl g’ 9 =TSt

(vi) IRERI g1 YA fohan S =
(vii) A A=

(viii) FAfFTH H

Based on the following information, calculate Personal Income and

Disposable Income :
Items
(i) Net domestic product on factor cost
(i) External secured net factor income
(@ii) Undistributed profit
(iv) Corporation tax
(v) Interest received by families
(vi) Interest paid by families
(vii) Transfer income

(viii) Personal tax

T (RS )

8,000

200

1,000

500

1,500

1,200
300

500

Rs. (in Crore)

8,000
200
1,000
500
1,500
1,200
300

500

[3+3=6]
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sTeqar

OR
freifera et ¥ =4 fafy g/1 i o= =6t 7o Shiferg [6]
L& T (FATH)

ORCGEEES - 4,000

(ii) TRt - 700

(i) <4 - 1,300

(iv) =S - 500

(v) SUHN = - 4,000

(vi) Heha =] fafam - 1,500

(vii) g Taceh fafam - 1,000

Based on the following information, calculate National Income by

expenditure method :

Items

(/) Salaries and wages —
(ii) Rent —
(iii) Profit —
(iv) Interest -
(v) Consumption expenditure  —
(vi) Gross domestic investment —

(vii) Net foreign investment —

oooooooo

Rs. (in Crore)
4,000
700
1,300
500
4,000
1,500

1,000

oo
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